H & 0l & AHS B Ml A

SN Ofabe
Ha: 0l HOISZ (01AH)
el 2 EASA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot 321,074 317,706 3,368
F0l HOSX(04HH) 250,283 249,232 1,051
= HJolsd 250,283 249,232 1,051
=0 wosd 196,744 196,493 251
101 21AH| 9,366 9,143 223
04 JIZtN2Z2XNSE+ 9,366 9,143 223
OotAg S - = 22Y 4,595
ol 2| 80,3203 55 4,418
oM EE = 4,417 6003 4% 177
O4A+R 2B3EH 22 4,771
oMl= - EZEH| 80,3203 x5 x22 +43] 3,213
ol =& 85,850 x4 H 4 1,374
oMHEE = 4,586,400 *4% 184
201 Ler23| 1,000 1,000
01 At2teltl 1,000 1,000
Odgld Xl 1,000
206 M=l 8,538 8,510 28
01 M=4l 8,538 8,510 28
Od&lIH Xl 4,000
OstAgS - &5 {7 7Y 4,538
oY= 1,7502 %10 £ «55& 963
ol 2tZ AL 50,0002 *1.35+56& 3,575
301 EtE NS 177,840 177,840
o7 & - 01 - HE2s24= 177,840 177,840
oolg=g 300,000 38« 122 136,800
OolZa0i= 300, 0002 x38E <22 22,800
O0IFEle BA4Y
20,0002 x38Z+23|x 12 18,240
Olatet Al2te|2d(EDlE SSatEa 2g2e) 27,884 23,992 3,892
101 @124H| 24,784 21,012 3,772
04 JIZtNZ2 2N S+ 24,784 21,012 3,772
OHUIEatEa & Hatss F4 2FY 24,784
olles 80,3203 x1&H#246& 19,759
s 80,3203 18 »50 4,016
otiE2E = 1,009
201 fer23| 3,100 2,980 120
01 AtR2t2|HI 1,200 1,200 0
OHUIEatda & Htss HAES 78
S 100,000 * 122 1,200
02 s3=gHl 1,900 1,780 120
Ostdal Mgz & ===
100,000& «12& 1,200
O2&=HHl & ==cIHl S 700




SN Ofabe
Ma: 0l BOISZ (014D
el 2 EASA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot ATHX 22 25,655 28,747 23,092
101 @124H| 16,507 14,508 1,999
M ORNZZE2NSE S 16,507 14,508 1,999
OO0 &t ATHAI e8| =Y 16,507
olles 80,3202 * 12 %2462 x50f% 9,880
=R 80,3203 * 12 *502 *50% 2,008
0BE2SH WOl HEZY
80,3203 x5 & *x32 «23] 2,410
CBESEN BEX HEXY
85,8502 x32H 32 *23] 1,546
oJIZHHZ2ZEN 288 663
201 2= 9,148 9,239 Vaxe)
01 At22t2l] 1,900 1,900 0
OxHMEE & FLES 74 1,000
O&IIEHl ZIIEMN ==
470,000 12 470
OAZAL BIIFY a4
430,000 *12] 430
02 s3=gbl 7,248 7,339 VaNe)
o&IIe3 450,000 123 5,400
Ox=ER= 30,0002~ 12 360
Ost=A NS 2] 48,0002 12 48
OJtgS8dH TV & IHUAIZE
120,000& * 101 A+ 122 1,440
YA (K AHH) 70,791 68,474 2,317
=34 70,791 68,474 2,317
Jl=23H] 70,791 68,474 2,317
201 Let=23 | 32,121 31,804 317
01 At2teltl 13,361 14,200 AB39
OAtR2elHI(Z%H) 9,801
OF A R213H| 44|
130,000& x 104 2% 123 1,560
O=FME HRI(FIHY) 2,000
2 s5=g4l 18,760 17,604 1,156
O33238I(5Y) 13,980
OSsE=A =3l 580
ozExy 22 (20H) 1,200
OFAL 242 FAHI(ARE =4&HI) 3,000
202 04l 25,860 25,860
01 2LHoIH 3,420 3,420
ougex=d 120,000 x2&* 122 2,880
ONEHAHSEE T 22/04|
45,0002 x1&* 122 540
02 A0 22,440 22,440 0




SN Ofabe
A HZRAZHI(HAHH)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZA04H| 170,0002 x11E«12E 22,440
203 HE=H| 9,460 9,460
01 J|2=gg =AYl 5,940 5,940
ONarH s 5,940
02 32 JRHH 2= 520 520 0
OF IS (13Y) 40,0002 13 520
M FA2HLRFAI 3,000 3,000 0
ORNSgE =] 250,000 * 122 3,000
405 AHatE = 3,350 1,350 2,000
01 ML ESF SHI 3,350 1,350 2,000
OPC #¢ 1,120,000 *1CH 1,120
OZUH 7¢ 230,000 1CH 230
O HIY=IHE HIS € =25+ 2,000




